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1. 3R x2 + x+1=0%, @ x199 4 x200 ; 201 4. 9F WY S={2 34,5679 8 S &

1 HE F R? 3-3#g et fim g (e wofi o
i 21) wd sn @Rt €, s 500 & B €7
(a) -1
(@ 30
(b) 0
fb) 49
c) 1
fc) 90
d
sk (d) 147

2. 3R x, y, z PR ¥ (GP) # &, @ Fr=fafea

3 e I 2
32 B2 wh A/ 5. R p=(1111...n 3H &%) 8, @ 9p% +p
3 F1 g F1 7

1. In(3x), In(3y), In(32) EHIR A (AP)

7 (@ 10" p
2. xyz+In(x), xyz+In(y), xyz+In(z) o

T A (HP) # & e
5 S e I T A T i
o (d 10" p+1
®) A 6. fauma wfiem
(c) 1 3R 2=2M

3x2 - (k2 +5k)x+3k2 -5k =0

(d Fd1dRTH2 ¥ um utmm i Rt fe 9@ st

7 81 Frefofaa % @ #9-w wd 27

3. R log;p2, log;o* -1, loge* +3) @ O0<k<
g 441 (AP) § B, @ x fras aua B7 #
fa) O (b) %aaow-:%
(b) 1
€ <k<
() logy 5 S 3
(d) logs?2 (d) k= TE S E TE R
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1. If x% + x+1=0, then what is the value 4. Let §={234,5679. How many

e 0 s different 3-digit numbers (with all digits

of x + X +x“°? different) from S can be made which
are less than 500?

(@ -1 (@) 30

(b) 0 (b) 49

(C) 1 (C) 90

@ 3 (d) 147

5. f p=(1111---up to ndigits), then what is
2. If x, y, z are in GP, then which of the the value of 9p2 +p?
following is/are correct?

: (@ 10"p
1. In(3x), In(3y), In(32) are in AP
2. xyz+In(x), xyz+In(y), xyz+In(2) (b) 2p-10"
are in HP

¢) 10"p-1
Select the correct answer using the
code given below. (d 10"p+1
(@) 1 only 6. The quadratic equation
(b) 2 only

3x2 - (k2 +5k)x+3k? -5k =0
(c) Both 1 and 2

; has real roots of equal magnitude and
i i R opposite sign. Which one of the
following is correct?

3. If log,p2, log;o(2* - 1), log,o(2* +3) are
in AP, then what is x equal to?

5
O<k<—
(a) <kc< 3

fa) O (b) 0<k<%on.1y
(b) 1
3 5
(c) log,5 W.s5%%3
(d) logs2 (d) No such value of k exists
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7. AR a, =n(n) ¥, M q +a, +az +--+ay 10. 3R

Fas st 7 " 2 :
(@ 101-1 b+c c+a a+b
(b) 11141 wWeas A4 (HP) # &, o Froafafaa & @
FH-T1/FE-3 T R/
() 101+1 1
1. a, b, cG4E 43 (AP) H &
d 111-1
2. (b+9?, (c+a)?, (@+b)? TR
(GP) & &
8. I p 3 g, WFW x2+px+q=0F
TER T §, @ ¢ F Fen w9 7 & v 1 o g7 W WM @ I g
?
¥ (@ a4 1
(
Uy (b) Fad 2
(b) TH
c) 13 23E
(c) @
@ @ (@ @132
9. 2 11. 3R
ar bl 1 a
A=|d e f A=[o 1]
g h 1
- 2, TR ae Nt @
' A100__A50_2A25
3d+5g 4a+7g 6g
3e+5h 4b+7h 6h forae TR 27
3f+5i 4c+7i 6i
(@ -2I
fopaes TR 27
(b) -I
(a) A
() 7 c) 2I
(c) 72A (d I
(d) -72A el 1 e ATE B
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7. If a, =n(nl), then what is 10. If

a, +az +az +-+ap 1 1 1
b+e c+a a+b
equal to?
(@ 101-1 arc in HP, then which of the following
is/are correct?
(b) 111+1
1. a, b, care in AP
(¢ 10!1+1
2. (b+92?, (c+a)?, (a+b)? are in GP
(d 111-1
Select the correct answer using the
8. If p and g are the non-zero roots of code given below.
the equation x2 + px+q=0, then how
many possible values can g have? (@ 1 only
(@) Nil (b) 2 only
(b) One (c) Both 1 and 2
i e (d) Neither 1 nor 2
(d) Three
.M
9. If
1
a b.c A =|:0 ‘:]
A=|d e f
g h i

where a€ N, then what is
then what is

A100 _ASO —2A25
3d+5g 4a+7g 6g

3e+5h 4b+7h 6h

equal to?
3f+5i 4c+Ti 6i
equal to? (9 oe
-I
) A (b)
c) 72A (d I
(d -72A where [ is the identity matrix.

DFGT-D-TMS/1A 5 [ PTO.



12. 3R 16. aie THFW ax? + bx +c= 0 % T sin0 3N

a -b a-b-c cos &, @ Tr=fafaa & & #=-u1 wé 27

-a b -a+b-c|-kabc=0

-a -b -a=b+e (@) a?+b?% -2ac=0

@az0b#0,c#0)

®, Al kAW R (b) -a®+b? +2ac=0

(@ -4

(b) -2

© 2 () a®-b2+2ac=0

(d 4

(d) a?+b2? +2ac=0
8n+7

13. Y " forws woeR ?, el i= V-1 #7
n=1

(a) -1

®) 1 17. 3 C(n, 4), C(n, 5 3N C(n, 6) FAIEW HA

© i (AP) § &, @ n 1 AW F=R7

= (@) 7
14. R z=x+iy 8, & i=-1 , @ whwm ) 8

zz+|2® +4(z+2)-48=0 ¥ Trefa

Fal 87 (c) 9

(a) & @

(@ 10

(b) TETH

c) I

(d) W Y@rs 1 gH 18. ¥3d ‘LUCKNOW' W= ¥ a1&ml %1 wam &

(forn grmaf %) @ @36 4-3W I

15. fuafafaa # @ #9-w 2a+2Va? +b2 @ e w= (s1dqel a1 Feder) =g < s 87

FAR, Ml q be RR?

(@) Ja+ib+Ja-ib el

(b) Ja+ib-+Ja-ib (b) 200

(c) 2a+ib

(d) 2a-ib (e, A58

&l i=v-128I (d 120
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12. If 16. If sin® and cos® are the roots of the
a8 =brrag~b=e equation ax? +bx+c= 0, then which
5 b Ldsbasl=abosD one of the following is correct?

& iob —g=b
S D L RERE (@ a?+b?-2ac=0

@z0,b#0c#0
then what is the value of k? 2 2
(b)) -a“ +b* +2ac=0
(@ -4
o 2 _p?+2ac=0
© 2 () a*-b"+ =
d 4 g
(d a?+b?%+2ac=0
8n+7
13. Whatis Y, i" equal to, where i=+-1?
n=1
(a -1 i
17. If C(n, 4), C(n, 5) and C(n, 6) are in AP,
(b) 1 then what is the value of n?
fe) i
@ -i s
. ; (b) 8
14. If z = x + iy, where i = /=1, then what does
the equation z§+|zi2+4(z+E]—48= 0 fc) 9
represent?
y ; (@ 10
(a) Straight line
(b) Parabola
(c) Circle 18. How many 4-letter words (with or
(d) Pair of straight lines without meaning) containing two
vowels can be constructed using only
15. Which one of the following is a square the letters (without repetition) of the
root of 2a+2Va? + b2, where @, be R? W EREEINIW £
fa) Ja+ib++Ja-ib (a) 240
(b) Ja+ib-~Ja-ib (b) 200
(c) 2a+ib
(d 2a-ib plkh o
where i = /-1 (d) 120
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19. #F @i ©F g9 W 20 i fag afes v
¥ fom #) Frafafes § @ F¥9-w/99-8 4
qel B/87

1. 74 | el @ fogadl 9 e = =
T4 ITell T W@ Y g 380 B

2. T ¥ 5 99 fagelt #1 sheaw =9
T HFA arel Faysit i @@ 1140 R)

9 few T g2 F:1 W@ = ad s ghv)
(@) Fad 1

(b) Fad 2

(o) 13 23H

(d ad@13Ra#Hh2

a2 b2 21
20. b—2+a—2+2 ¥F foman o fred v ¥, sl

a#0, b#0%?
@ 21

(b) 22
(c) 42

(@ 43

DFGT-D-TMS/1A

21. k% & Wl & fog wdtea fsm
2k2x+3y—1=0, Tx-2y+3=0,
6kx+y+1=0
W 27
3+4/11
10

21+4/161
10

3+4/7
10

4 +./11
10

(@)

(b)

(c)

(d)

22. AR A ¥ wfawim #

[_2 l:|
I =
2 2

T wEga e ) A P e @7

(@) [; f]

o 57
o [ 4]
@[3 3]

23. oM f(x)=In(2+sin? x) F HAEGHE =
44

(a)

oA

(b) =
fc) 2n
(d) 3mn



19. Suppose 20 distinct points are placed 21. For what values of k is the system of
randomly on a circle. Which of the equations

following statements is/are correct?
o e by 2k2x +3y-1=0, Tx-2y+3=0,

1. The number of straight lines that 6kx+y+1=0
can be drawn by joining any two of

these points is 380. consistent?
3+4/11
2. The number of triangles that can be (a) 10,
drawn by joining any three of these
points is 1140. (b) 21+4/161
10
Select the correct answer using the 3+.J7
code given below. (c) 10
4+411
(d) __C
(@ 1 only 10
(b) 2 only 22. The inverse of a matrix A is given by
-2
() Both 1 and 2 [3 :]
.

(d) Neither 1 nor 2 What is A equal to?

2
@ |3 4
20. How many terms are there in the & L
expansion of =,
®) | 4 4]
Ty
21
(GQ b2 ] (c) [3 _4]
—t—=+2
b? a?
a) -1 2
( 3 4

where a# 0, b# 0?

23. What is the period of the function
flx)=1n2 +sin? x)?

(@ 21
m
() 22 %
42 g
(c) fc) 2n
(d) 43 (d) 3n
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24. IR sin(A+B)=1 3 2sin(A-B)=1 %, 28. TR AN O<x, yz<1% R
HEY0<A,B<§%,€ImnA:mnBﬁm%

1 3n

Ix+sin'1y+sin" z=?

sin~

e 87
@ 1:2 B x1000 4 (1001, ;1002 5 gy 7 B7
(b) 2:1 ) (@ O
=353 ®) 1
d 3:1 . 3
25. iogmﬁaﬁwmggamﬁmﬁm| (d) 6
3 ¥ fagadt it e fee B s
Hﬂﬁi,mﬁtﬁw,ﬂgﬂﬁgm% 29. 7F ©ifsig @t x, ye R % fog
wafre T 27 : :
sinx +siny=cosx+cosy
(a) 25
(b) 50 %ltan(-;—+g)ﬁsqﬁsm%?
() 75
(@ 100 (@ 1
(b) 2
26. ¥IFW x? -10x2 +9=0 ¥ @i Iwafaw © 3
el ® faEm i g6t % g aet =
Frree F1 27 (@) 22
(@) 4
b 6 30. #H =g
(c) 8 A:[_g 3] AR (mI+na)? =A
(d 10
?, &l m, n 9T SrEfEE g@En § ag 7
27. (1+x)" & fo@rR w fEm fAife) 97 iftc oaTE AR B (m + n) Fra® suar 27
p, g r 3R s FHW: VEE, g@U, nal AR
(n+1ﬁfﬁ‘ai§"ﬁ$%|[ps+qr]m?ﬂﬁ'{ (@ 0
&7
®) =
(a) 1+2n 2
fb} 1+2n2 (C) 1
(c) 1+ n2 3
d —
(d) 1+4n 2

DFGT-D-TMS/1A 10



24. If sin(A+B)=1 and 2sin(A-B)=1, 28. Let

where 0<A,B<g. then what is

sin! x +sin”! in A
y+sin ' z=
tan A: tan B equal to? 2

(@) 1:2 for 0< x, y z< 1. What is the value of
(P)riel x1000 41001 , ;1002
f¢) 1:3
(d 3:1 (@ ©
(b) 1
25. Consider a regular polygon with 10 sides. 3
What is the number of triangles that ()
can be formed by joining the vertices (d) 6

which have no common side with any of
the sides of the polygon?
29. Let sinx+siny=cosx+cosy for all

a) 25

@ x, y€ R. What is tan(f- +§) equal to?

(b) 50 2R

(e) 75 (@ 1

(d) 100 (b) 2

A L (c) 2
26. Consider all the real roots of the equation

x* -10x%2 +9=0. What is the sum of (@ 242

the absolute values of the roots?

(@) 4 30. Let

6 ' D2

" Az[ ] and (mI+nd)?=A

) 8 -2 0

(d) 10 where m, n are positive real numbers
and I is the identity matrix. What is

27. Consider the expansion of (1+x)". Let (m + n) equal to?

p, g r and s be the coefficients of

first, second, nth and (n+lth terms (@ O

respectively. What is (ps +gr) equal to?

(@) 1+2n ® 3

2

(b) 1+2n © 1

f¢) 1+n? 3
@ -

(d) 1+4n 2
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31. cot{sin“l "—55 +cot! g] & HH w1 27

@ —
(b) —
() —

d) —

32. A Wif9T 4sin?2x=3 ®, 5&f 0<x<n ¥
tan 3x fFa% aue 27

(@) -2
) -1
fc) O
(@ 1

33. 9F ©IfSY p, ¢ 3N 3 TF FHR A (AP) ¥
FH: TEE, e 3R vieal g ¥ 9m wifi

d 9 e 2| AR R (pg) EaE &, @ d
1 9 =1 87

fa) 1

(b)

| w

(c)

™|

(d)

o

DFGT-D-TMS/1A
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Frafafaa wut w fmm Hifm

1. T waE g

2. T, T B 9 99 W e §)
ITY FAl ¥ FA-H1/PA-2 T 2R
(@) 949 1

(b) Fa« 2

(c) 1 3R 23t

(d Fd@ 182

34. wiFw x>-8-=0 F H&l ¥ way H

35. "M s @l secx.cosecx = p F

T 8, &l p TH YATHE adaE 9@ B p

%1 TYTH WA F1 87

1
(a) 5

(b) 1
e 2
(d) AH HH F A& 6 2

36.9%&53%%1%111,3310-:“%%

sin ® + sinBcos O ftrHan ¥ Wy Fan 27

(a)

N[A

(b)

wla

(c)

L

(d)

oA

7



31. What is the value of the following? 34. Consider the following statements in
respect of the roots of the equation

cot[seiﬂ'l § +cot™! ﬁ] x3-8=0:
5 2

1. The roots are non-collinear.

(@ 6 2. The roots lie on a circle of unit
17 radius.
7 Which of the above statements is/are
(b) 16 correct?
(a) 1 only
(©) 16
i (b) 2 only
(c) Both 1 and 2
17
(d) 6 (d) Neither 1 nor 2

35. Let the equation secx-cosecx = p have

32. Let 4sin? x =3, where 0< x <n. What a solution, where p is a positive real
is tan3x equal to? number. What should be the smallest
value of p?
(@) -2 1
(@
(b) -1 2
() O () 1
@ 1 fe) 2

(d) Minimum does not exist

33. Let p, g and 3 be respectively the first,
third and fifth terms of an AP. Let d be

n
the common difference. If the product 36. For what value of 6, where 0<8< >
(pg) is minimum, then what is the value does. 8in 0+ sin0cosd" attain ‘maximiim
of d?
value?
(@ 1 n
a —
(@) >
3
() - n
8 i
(b) 3
9
e =
8 e
9 n
d) — d) =
(d) 7y (d) 6

DFGT-D-TMS/1A 13 FPT0.



37. W=l ¥ wed # f=fefas w0 w fEm 39. Heul IdR Ferl & el # Frafefad suEt w

I fomm $if
1. W=l % FEME W A a2 3 1 & 99, %er & AfF wft v, way
T 2
2. 2 gy=A ¥ witen
g b LI 5 2. A% B %R i 49y Fd19 T Ax B
af A wg=El % e Y
> w1 SR A Ty 3. A%t Wiy FAE TH AxA F
TR %, N 2 g s S Bt
I FoA A B2 7@ 7 I ol A A HA-R w7
(@ a9 1 302
(@) Faa 1 3R 2 ) e 2ol s
b1 SR c) a1 33
(d 1,23R3
fc) Faa 133
40. I log;,2log, 10 +10g,((10%) =2 }, & x
@ 1,233 1 AH R
(@ 0O
(b) 1
38. W wg=E X, v ol z W fEr $ifw, R (c) log, 10
m=6,5m4milaﬂ‘ﬂlsm (d) logs?2
fim &1 7@ & S=(X-v)uz }1 S F
o sfa swag=m &7

41. 7H &g ABC s fiye R af?
{a) 255 cos2A +cos2B+cos2C= -1
2, @ Frafafaa & @ $9-w v 27

(b} 38 (a) sinAsinBsinC=0

23 (b) sinAsinBcosC=0
oS {c) cosAsinBsinC=0
(d) 1024 (d) cosAcosBcosC=0

DFGT-D-TMS/1A 14



37. Consider the following statements in 39. Consider the following statements in

respect of sets : respect of relations and functions :
1. The union over intersection of sets 1. Al relations are functions but all
is distributive functions are not relations.

2. A relation from A to B is a subset

2. The complement of union of two of Cartesian product Ax B.

sets is equal to intersection of their
complements. 3. A relation in A is a subset of
Cartesian product AX A.
3. If the difference of two sets is
equal to empty set, then the two
sets must be equal.

Which of the above statements are
correct?

(a) 1 and 2 only

Which of the above statements are (b) 2 and 3 only
correct?
(¢) 1 and 3 only

(d 1,2 and 3
fa) 1 and 2 only
(b) 2 ﬂnd 3 Only 40» lf loglo 210g2 10+10510[10x} =2, then
what is the value of x?
(c) 1 and 3 only (@ O
({d 1,2 and 3 ) 1
(c) log, 10
(d) logs2

38. Consider three sets X, Y and Z having
6, 5 and 4 elements respectively. All
these 15 elements are distinct. Let
S=(X-Y)uZ. How many proper
subsets does S have?

41. Let ABC be a triangle. If

cos2A +cos2B+cos2C= -1

then which one of the following is

(a) 255 correct?

(b) 256 (a) sinAsinBsinC=0
(b) sinAsinBcosC=0

e () cosAsinBsinC=0

(d) 1024 {d) cosAcosBcosC=0

DFGT-D-TMS/1A 15 [ P.T.O:



42. wrfue (feefifz) 46. 3% 3, 5, 7, 9 W fER ffm « == |

cosC tanA 0 5-31h Wt fret et W s et 3,
sinB 0 -tanA it 1 =m s # Ay i B
0 sinB cosC
F HE #9187 ‘ (@) 240
(@) -1
8
) 0 g
(¢) 2tan Asin BsinC © 120
. ([d) -2tanAsin BsinC
43. 1A i T=T A § 9Eel 250 gl U@ (d) 60
S 3 % o § ot gg=m B # wed 200 ¥
YA €1 AU BH e staga £7
(@) 324 47. W@ B i srege femm €, Rl aft 5w
(b) 364 wfafeat (1, 2) @ & 7€ &7
c) 384 _
(d) 400 @ 16
44. WA ofifvT s, fFf T 4 (AP) F RS k
W@ ¥ dmea N awta 2, @ 590 (®) 24
0~ S0
e s 7 c) 32
fa) 1
() 2 (@ 48
c) 3
(d 4
45. af? gifiF 48. IR i=J/-1%, A P nez % Riwi 2" %
4x?% —(5k+ )x+5k =0 o W &7
% el # W IR R, @ Prefafes § )
FH-G1 k 1 TF B9 T 27 =]
(a) -3
b) @A
® -1 (b)
1
s () =W
3
@ -3 (d) I

DFGT-D-TMS/1A 16



42. What is the value of the following 46. Consider the digits 3, 5, 7, 9. What is

determinant? the number of 5-digit numbers formed
by these digits in which each of these
four digits appears?

cosC tanA 0

sin B 0 —tan A
0 sinB cosC
(@) 240
(a) -1
(b)) O (b) 180
(c) 2tanAsinBsinC

43. Suppose set A consists of first 250
natural numbers that are multiples of (d) 60
3 and set B consists of first 200 even
natural numbers. How many elements
does AU B have?

(@) 324 47. How many distinct matrices exist with
(b) 364 all four entries taken from {1, 2}?
(c) 384 A
(d) 400 Ll
44, Let S, denote the sum of first k terms of (b) 24
an AP. What is - S equal to?
S20 = Si0 (c) 32
(@) 1
(b) 2 (d) 48
fc) 3
(d 4
45. If the roots of the equation 48. If i = /-1, then how many values does

=2n .
it (5k + )x + 5k = 0 i have for different ne Z?

differ by unity, then which one of the

following is a possible value of k? (@) One
fa) -3
(b) -1 i
1
© —_5 (c) Four
@ -2 :
5 (d) Infinite

DFGT-D-TMS/1A 17 [ BT,



49, If e : 3w s et 2 (02) wei ¥ for Referfas w

fomm s
x=-a—, y=__b_’ PO
o o A @Qﬂﬁi(&—&,(—zg}#ﬂ{znﬁmmm
l -x =x '
Al 1 —ymAmEY? 51. 39 F ¥z ¥ Fidwis w1 §7
el 1
(@ (-2 -50)
(@) 0O
1
% (b) (-50, -20)
(c) abec
({d) ab+ be+ca (c) (-24,-58)
e @ (-58 -24)
10
A=|111
143
% i 3 e w0 forem A ; 52. AR g 6 fiem £ &, A Pl 3 3 B-m
1. A% e w1 sfee 78 2 e 27
2. A%=4
3. 3A=A2 fa r<10
IE § A F9-F g B7
(b)) 10<r<30
(@) Faa 1 37 2
% aﬁazms fc) 30<r<60
(c) *ad 1 3R 3
(d) 1,233 (d) r>60
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49, If Direction : Consider the following for the next

two (02) items that follow.

x=a-a— y=_—— Zz= c
b-c c-a a-b

A circle is passing through the points (5 -8),

(-2 9) and (2 ).
then what is the value of the following?

51. What are the coordinates of the centre

37500 L of the circle? :
Torloely
; ot T | (@) (-2 -50)
0
& ) (-50,-20
(b) 1
I e c) (-24,-58)
(d) ab+bc+ca
(d) (-58 -24)

50. Consider the following in respect of the
matrix

o
=

52. If r is the radius of the circle, then

1. Inverse of A does not exist which one of the following is correct?

2 AS%A
35 a4 Al (@ r<10
Which of the above are correct?

(b)) 10<r<30
(@) 1 and 2 only
() 2 .end 3 only () 30<r<60
(¢) 1 and 3 only
({d 1,2 and 3 (d) r>60

DFGT-D-TMS/1A 19 [ P.T.O.



& 2 o o a1 2 (0.2) weie ¥ fore Frfrfae 3 : i o 9 2 (0.2) weEl ¥ forn Frffa w
fomm $ifemg o= fifsm

waTg s ¥ 2 il (0, 0) 3w (2, TF WA IS ABCD ¥ A wuma vl % Aswi
i L i A(l, 3), B(-12) 3 (3 5) %I

53. Ffafen Fut v fram it
1. d® i =1 w359 w P

55. fasvi BD %1 vt 71 27
(@ 2x-3y+2=0

g B
i (b) 3x-2y+5=0
B 5 fc) 2x-3y+8=0
I Fol F A P-m /- R (d) 3x-2y-5=0
56. GHIR Ig F1 G%e 1 27
ekt (@) 151 3T
3
i
(© 1323 (c) i S
(d) Eﬂ‘fﬁlﬁ
e el P : o) o 9 7 02) weAint ¥ forg Frferfam
R fo=m Fifsg

o B ABC i ssisit AB, BC 3 cA ¥ g
B x-2=0, y+1=0791 x+2y—-4 =0 &

54. et ¥if & FEwi & o 91 27 57. ACW B iiera %1 gxftao =27 27
(@ x-3y+1=0

(@ O (b) x-3y+4=0

fc) 2x-y+4=0
®) V3 (d) 2x-y-5=0

58. Fga & ufth= & fders w1 §7

(©) 22 (@) (4,0)

(b) (2,1)

e) (0, 4)
(d) 23 @ (2,-1)
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Direction : Consider the following for the next
two (02) items that follow.

The two vertices of an equilateral triangle are
(0, 0) and (2, 2).

53. Consider the following statements :

1. The third vertex has at least one
irrational coordinate.

2. The area is irrational.

Which of the above statements is/are
correct?

(a) 1 only

(b) 2 only
{c) Both 1 and 2

(d) Neither 1 nor 2

54. The difference of coordinates of the third
vertex is

(@) ©

(b) 3
(c) 2J2

(d) 2J3

DFGT-D-TMS/1A
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Direction : Consider the following for the next
two (02) items that follow.

The coordinates of three consecutive vertices
of a parallelogram ABCD are A(} 3), B(-], 2)
and C(3, 5).
55. What is the equation of the diagonal BD?
(@ 2x-3y+2=0
(b) 3x-2y+5=0
(c) 2x-3y+8=0
(d 3x-2y-5=0

56. What is the area of the parallelogram?
(a) 1 square unit

(b) % square units

(c) 2 square units

(d) —g square units

Direction : Consider the following for the next
two (02) items that follow.

The equations of the sides AB, BC and CA of
a triangle ABC are x-2=0, y+1=0 and
x +2y-4 = 0 respectively.

57. What is the equation of the altitude
through B on AC?
(@ x-3y+1=0
(b)) x-3y+4=0
() 2x-y+4=0
(d 2x-y-5=0
58. What are the coordinates of circumcentre
of the triangle?
(a) (4,0)
(b) (2,1)
(c) (0, 4)
(@ (2,-1)

[ P.T.O.



o : s o A 2 0.2) weE ¥ o Preferfam w
e #ifn

T wEw ¥ e (ew Yem) ¥ A siw fig
(-2, 4) 3R (-2, -4) |

59. ifrea (dew Wew) ¥ A o fig ¥ w9 4w
QA fagslt ¥ st 5 wmem @1 =
T 87
(@) T &

(b) A

fe) =R

(d) a

60. U@ wEerl % day # frefufs s w fer
ﬁﬁl‘f{: '

1. ¥ 3 & waew 5@ g (0, 0) @
TS R

2. ¥ A WA # AN ()
(2, 0) 7 R 3|

I FoA § A F-m/AN-A wd b/

a) Faa 1

(b) Fa 2

(c) 1 ¥R 23

(d A 13dad2

DFGT-D-TMS/1A
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61. TF fag P(x, y, z) #1 figey (%w) w0 w@n
I gfEfda wa R 5 2=7 %, @ figay
(<iea) =1 27

(a) x-3& % FHER UF @
(b) y-A& F FAR T T
(c) z-3 9 F GHIR & @

(d) xy-9a F GHIR UF GG

62. Frfafan wul w few Hif
1. dafe (W) 4 w Y@ ¥ g
- arguma & w0 §)
2. ot fifim Y@ ¥ R o7 dv9 2 R
Rg-Fragt % o1 =1 dvee, WY F
Rg-Fram ¥ ea % W )

I F A B/ A-R Y
fa) Faa 1

(b) F=E 2

c) 1 3R 236

(d F@13Mmad2

63. xy-d, g (-1,34) 3R 2 - 5 6) F e
T tarEs ) R vER e w27

(a) AEREF ®9H2: 3% sum A
(b) A w9 F 3:2 % g i
(c) =TRIE:2:3 % FgUE §
(d) =TEa: 2: 1% IguE §



Direction : Consider the following for the next
two (02) items that follow.

The two ends of the latus rectum of a parabola
are (-2, 4) and (-2 —4).

59. What is the maximum number of
parabolas that can be drawn through
these two points as end points of
latus rectum?

(a) Only one
(b) Two
(c) Four

(d) Infinite

60. Consider the following statements in
respect of such parabolas :

1. One of the parabolas passes
through the origin (0, 0).

2. The focus of one of the parabolas
lies at (-2 O).

Which of the above statements is/are
correct?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

DFGT-D-TMS/1A 23

61. The locus of a point P(x, y z) which

moves in such a way that z=7 is a
(a) line parallel to x-axis
(b) line parallel to y-axis
(c) line parallel to z-axis

(d) plane parallel to xy-plane

62. Consider the following statements :

1. A line in space can have infinitely
many direction ratios.

2. It is possible for certain line that
the sum of the squares of direction
cosines can be equal to sum of its
direction cosines.

Which of the above statements is/are
correct?

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

63. The xy-plane divides the line segment

joining the points (-1, 3, 4)and (2 - 5, 6)
{a) internally in the ratio 2: 3
(b) internally in the ratio 3:2
(c) externally in the ratio 2: 3

(d) externally in the ratio 2:1

[ P.T.O.



64. v el = vl 0 9 - e ¥ el B
He freht 27
(@) 4
(b) 6
(c) 8
(d)

65. ABCDEFGH U# 9 ®, frga smam ABCD
8 " difm A@Qoo0, Bu2oo0),
C(12 6 0) 3R G(12 6 4) ¥ ¥ 7R AB
AR AG ¥ 19 1 FW o 3; AC 3 AG F
?ﬂiwmﬂ?,?ﬁcosm+coazﬁﬂm
187

40

49

64

49

120

49

160

49

(@)
(b)
(c)

(d)

66. 7R T @, b 3R 2 W wEw whw &
ng,?w?aﬁlwﬁa’aﬂtgﬁ?ﬁﬂw
aﬂwa%,?hﬁﬂ%ﬁaaﬁﬂﬂq-mm-ﬁ
wel B/87

1. dxb=sind ¢

2. d-bxd=0

F g T 2 w1 R wd I g
(@) a4 1

(b) FaE 2

fe) 13 23H

(@ @ 1T 2

DFGT-D-TMS/1A
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67. I d+3b=3-] a 2d+b ={-2],

G N b F 9 T w0 R 27
(a)
(b)

ola ©

(c)

w3

(d)

N3

68. AR (@ +b), d W wa & 3 b = whww, 2 %

vfEm F= A R, A @a@+b)-b ;AR
Toras s 37

(@ 0
(b) 1

c) 8|aj?

(d) 8|b?

69. WA WM @, b M A aRu W E B 2, B

w?milﬁnﬁfﬁgaﬁﬂm-m/
FH-Y wE 2/E?

L. @xb)x?3,d 3 b ¥ w9 goacha §
2. @xb)x2, axbwead

A2 2 T e 1 i I g
(@) Fa« 1

(b) =@ 2

(c) 1 3R 23

(d A1 AT 2



64. The number of spheres of radius r
touching the coordinate axes is

() 4
(b) 6
fc) 8
(d) infinite

65. ABCDEFGH is a cuboid with base ABCD.
Let A(G, 0 0), B(12 0, 0), C(12 6 0) and
G(12 6,4) be the vertices. If o is the
angle between AB and AG; P is the
angle between AC and AG, then what
is the value of cos2u +cos2f?

40
(a) 29

64

ME

120

© %o

160

e,

66. Let a, b and ¢ be unit vectors such that
-+
dxb is perpendicular to ¢. If 8 is the

angle between @ and 3, then which of
the following is/are correct?

1. @xb=sind?
2. @-(bxd)=0

Select the correct answer using the code
given below.

fa) 1 only

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

DFGT-D-TMS/1A 25

67. If d+3b=31-] and 2d+b=i-2j,

then what is the angle between
=" -
aand b?

(@) O
(b)

oA

(c)

wlAa

(@

N a

68. If (&'+3] is perpendicular to @ and

magnitude of b is twice that of a,

- =
then what is the value of @d+b)-b
equal to?

(@) O
(b) 1

(c) 8|d|?

(@ 8|b

69. Let a, B and ¢ be three vectors such

that @, b and ¢ are coplanar. Which
of the following is/are correct?

P ey, = =
1. (@xb)x¢ is coplanar with d and b
=

2. (@xb)x¢ is perpendicular to @ x b

Select the correct answer using the code
given below.

(a) 1 only

() 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

[P.T.O.



70. 3R A ¥R B ¥ f&ufa afew w79 (V2 - 1)1~

Mi+W2+1)j%, A AB F1 afeamr F7 27
(@) 2v2

(b) 32
(c) 2J3

(d 3J3
71. af2

y=(1+x)1+x?%)(1+x*)(1+x8)(1+x'9)

/A x=0W % foras st 27

(@ 0
(b) 1
() 2
(d 4

72. IR} y=cosx-cosd4x-cos8x %, @M x==W

L
4

-1
@ 3

DFGT-D-TMS/1A
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73. AF ST £(x) T FHR F1 T g9 T @ B
£ o fla=x* &1 £ e aue 37

@ 0
(b) 1
(c) 2
(@ 4

n
74. lim 2 tb

n—eq" - p"

2?

fored auat R, &l a>b>1

(@ -1
(b) ©
(c) 1
(d) dm 1 Afee 7@ R

75. WA difsg

14X 0<x<?2
2k

kx, 2<x<4

flx) =

%W&ii?zf(x)m e &, @ k F1 AA
w1 7
(@ -2
(b) -1
) O

(@d 1



70. If the position vectors of A and B 73. Let f(x) be a polynomial function such
are (W2-1)i-] and {+W2+1)j that f o f(x) = x*. What is f () equal to?
respectively, then what is the

magnitude of AB? R

) 1
(@ 22

) 2
(b) 342 @ 4
(e) 2V3

74. What is
Bsois . a® +b"
lim
n—oe an _bﬂ.
71. If where a> b > 1, equal to?

y=(1+x01+x2)(1+x%)(1+x8)(1+x'6) @ -1
then what is % at x = 0 equal to? (b) O

(c) 1
(@ 0 (d) Limit does not exist
(b) 1
c) 2 75. Let
(d 4 .58

fi0) = 1+2k s D Lx<?
kx, 2<x<4

72. If y=cosx-cos4x-cos8x, then what is

1 5’}1 B n equal to? If 11;:12 f(x) exists, then what is the value
yiax . of k?

(@) -1 (@ -2

(b) 0 b) -1

(c) 1 (c) ©

(@ 3 (d@ 1

DFGT-D-TMS/1A 27 (P-T.0.



76. f(x)=|x|-1% "a9 ¥ F=fafes w4 w 79. ¥ aafd® Y@ W e weW

Teram hifr flx) = 1-sin x %1 99 71 #7
1. x=1W f(x)Eaa 2|
2. x=0W f(x) HaFHa-1T 8| (@ (0,2
IFE FE H A BH-E1 /AT wE R/RT (b) [0 2]
(@) Fad 1 € (-1
(b) Fad 2
d) [-1 1
(©) 1323t (@ [-11]

(d) @ 1ARAE2
80. x=—§ W y=cos (cosx) H w-t@

_Ix .
77.ﬂﬁf(xl—m,x¢o%,ﬁz'f[]mqyd$ TR GERSE €A
Fod I Oiftd B R, W x=1W flx) A -
afon v = 27 (@ -
(@ -1 (b) O
(b) 0 © 1
(e) 1
(d) x=1W f(x) ¥ g ¥ w1 AfE= (d 2
T ?
78. HeH 81. x2 & @99 H f(x)=1+x2 +x? F gu=a
1 w1 87
f(x)=sin[—2} x40
* x3 J‘:5
% way 1 freafirfia et v fram A b s
1. 3R f£(0)=0%, q I2 x = 0 W Had B
2. wysie 2 2
”ﬂ%x-ﬁmmﬁlﬁl (b) 3+S+C
I Fo § A AW/ T R
& 28
(@) e 1 fc) x2+%-+£6—+c
(b) FaH 2
¢) 1323 e
2 . X X
(@ 3 1¥RTd2 [) *"eSpan O
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76. Consider the following statements in 79. What is the range of the function

respect of f(x)=|x|-1: f(x)=1-sinx defined on entire real
1. f(x) is continuous at x = 1 line?

2. f(x) is differentiable at x = 0. (@ (02

Which of the above statements is/are

correct? (b) [G 2]

fa) 1 only ¢ 11

sy @ 11

fc) Both 1 and 2
(d) Neither 1 nor 2
80. What is the slope of the tangent of

= cos™} .
77. If f(x) =.|[i]|, x # 0, where [-] denotes the YREwosd) atix 4 f
X

greatest integer function, then what is (@ -1
the right-hand limit of f(x) at x =17

(a) -1 (b) 0
(b) O c) 1
(ol |

(c) @ 2

(d) Right-hand limit of f(x) at x=1
does not exist

81. What is the integral of f(x)=1+x2 + x*

78. Consider the following statements willi feRpoct 4 A3 ?

in respect of the function

) 1
f(x)=sm[—~) x+0: 3 5
x2) (a) x+%+§5—+c
1. Itis continuous at x = 0, if f(0) = 0.
i ; 2
2. It is continuous at x = —. 3 5
Ay e Sl
Which of the above statements is/are
correct?
1 onl 2, %% 2% e
a c) x“+—+—+
(@) 1 only (c) g e
(b) 2 only
¢/ Both 1 and 2 4 6

: (d) ry PR e,
{d) Neither 1 nor 2 2 3
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82. W (1, 2) § BeM f(x) = x2 +1%F gay F 85. 3R  [VI-sin2x dx = Asinx + Bcosx + C

Frafafas FoE w e $ift . ?, &l 0<x<§ g o fafafes & A
1. oM % i 76 S R BT T 27
2. e % Jqa8 9F 2 R
(@@ A+B=0
IFTE FE A A -G /F-R A R/E
oy A 1 (b) A+B-2=0
(b) Fad 2 (c) A+B+2=0
fc) 13 272M

(d A+B-1=0
(@ @ 13IARTH 2

86. W wft diigel ¥ sEHa wlimw f BR

83. IR f(x), f()=F@) F THUR Fa@ B, @ (R) #n 2 P aw, Flws =t F
£ 70) cx ot s &7 wa-my §7
(@) 1
(a) -1
(b) 2
(b) O
¢ 3
(¢ 1
(@ 4
d@ 2

87. W wft Fut F sEwd @l i g (Rah)

84. Ee‘“f‘“’”ldxﬁmﬁaam%? jﬂzﬂ;ﬁﬁ?ﬁﬁm @5t Ay wguty §
(ﬂ) -1 (ﬂ) 1
s ) 2
¢ 1 fc) 3
(d 2 (@d 4
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82. Consider the following statements 85. If IJ 1-sin2x dx = Asinx + Bcosx + C,
in respect of the function f(x)= x2 +1

b :
i the Hhtetval (L9 where 0 < x < 2 then wl"uch one of the

1. The maximum value of the function following is correct?
18D,
fa) A+B=0
2. The minimum value of the function
a8

(b) A+B-2=0
Which of the above statements is/are

correct?

fc) A+B+2=0
{a) 1 only
(b) 2 only {d A+B-1=0

{c) Both 1 and 2

(d) Neither 1 nor 2 2 3 :
86. What is the order of the differential

equation of all ellipses whose axes are

83. If f(x) satisfies f(1) = f(4), then what is along the coordinate axes?
f f’(x) dx equal to? {a) 1
(b) 2
(@) -1
(c) 3
(b) O
© 1 (d) 4
(d 2

87. What is the degree of the differential
equation of all circles touching both the

84. What is J‘geln (cosx) gy equal to? coordinate axes in the first quadrant?
@ -1 s
(b) © (b) 2
fe) 1 (c) 3
(@ 2 (d) 4
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88. y= A- 2o srame o w1 27
X
(a) xy,+y =0
(b) xy, +2y =0

fc) xy, -2y, =0

(d) 2xy, +y =0

89. Eln[tan%)dxﬁa‘ﬂﬁim%?
fa) O

(b)

M=

@ 1

(d 2

90. f&g (0, 1) W a% y=e* i Ti-t@l, x4

W el ferd 27

(@ (10
() (-1 0)

c) (20)
o (49

DFGT-D-TMS/1A
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o1. Wf{x)=x+%%ﬁﬁuﬁﬂnﬁlfhamﬁ

 fa=am il :
1. flo) F AT ftmaw @W, T
o =g 9 8 =4 R

2. flx) ¥ WA IJftwam 91 x=1 |
B 2

IFE FYA § ¥ BH-T/RA-S G 727
(a) Faa 1

(b) e 2

(c) 1 ¥ 23

(d Iad13RIA2

92. 2 T (3fe) e A fedl 9w 7 sifa fg

N g4 9 frdl e W fusan S9%d
1 87

(@) 418
(b) 6 R
(c) 8@ grg
(d) 16 T 7

93.]' X o we A7

x(x2 +1)

2
(@) ~1-ln[ ;‘ ]+c
2
(b) }r{ ud ]+c
{c) gln[ ;2 ]-l»C

1, (x2+1
(d) 51n[ 3 J+c




88. What is the differential equation of 91. Consider the following statements

y= A«-‘E? in respect of the function f(x) = x+%:
1. The local maximum value of f(x) is
(@ xy;+y =0 less than its local minimum value.
2. The local maximum value of f(x)
(b) xy, +2y, =0 occurs at x = 1.
Which of the above statements is/are
() xy; -2y =0 correct?
(a) 1 only
(d) 2xys; +y, =0 (b) 2 only

(¢ Both 1 and 2
(d) Neither 1 nor 2

89. What is [ m(tanfj dx equal to?
3 2 92. What is the maximum area of a rectangle
that can be inscribed in a circle of

(a O radius 2 units?
(a) 4 square units
(b) % (b) 6 square units
(c) 8 square units
) 1 (d) 16 square units
- dx
rd) 2 93. What is Im equal to?
@ im x2 |, ¢
90. Where does the tangent to the curve 2 |x241
y=e* at the point (0, 1) meet x-axis?
x2
(@ (10 (b) In|— +C
xS+ 1
(b) (10 ¥
3 X
fc) =In +C
2 \x?+ 1]
(c) (20 .
1 @ Lm[%2*1)sc
@ (#5' 0) 27| x*
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94. e* & WHY H ¢ H FFHerw 71 27
(@ e**

ex

(b)
c) e eX

(d) ee*

95. fhu ffd d flg=x3+x2+kx &1 5
W = 7= 78 gm?

(@) 4k <1
(b) 3k>1
€ 3k<l

(@ 3k<1

96. IR flx)=2* %, @ I;of};%]dx fra s
27
(@) 4In2
(b) In4
(¢ InS

(d) 8In2

97. af: fgf[x]dx=k%, A [21f 09| ax

k¥ B2
kBT R
k¥ B A k% 0 R
k8 a8 k % =0 2

(@)
(b)
(e)
(d)

DFGT-D-TMS/1A

98. AR T flx)=x2-kx, FRE (L) F
uHieEd: IunE R, @ Pefafas § @ f9-a@
wdl 87

(a) k<2
(b) 2<k<3
fc} 3<k<4

(d k>4

99, y=|[x], &l [-] HETH QIi% Hed 2, x-34 TH
@l x = -1.5 3R x = -1 8 T Tag a9
& AR 1 87

(@ 0-3 i 55
(b) 0-4 = T
(c) 06 = 3
(@ 08 al g

100. (1, 1) W % x2 = y F WY@ x-3§ H
yATeRa fawn % w1y 6 Fvr s B | Prafifaa
q A -1 e 27

n
(a) 9<g

(b)

E<B(E
6 ]

E(9<E
4 3

(c)

(d) §<

8~:E
2

34



94. What is the derivative of e® with 98, If the function f(x)=x%-kx is

respect to e*? monotonically increasing in the interval
(L =), then which one of the following is

(@ e* correct?
(a) k<2

(b) e*
(b) 2<k<3

e* . .x
oM () 3<k<4
(d) ee” d k>4
95. What is the condition that

flx)=x®+x?+kx has no local 99, What is the area bounded by y=|[x],

extremum? where [-] is the greatest integer function,
the x-axis and the lines x =-1-5 and

(@ 4k<1 s

) 3k>1 (@) 03 square unit

(c) 3k<1 (b) 0-4 square unit

(d) 3k<1

{c) 06 square unit

96. If f(x)=2%, then what is E“&dx (d) 0'8 square unit

flx)
equal to?

100. The tangent to the curve x2 =y at (1 )
(@) 4In2

makes an angle 6 with the positive
(b) In4 direction of x-axis. Which one of the
following is correct?

(c) InS o
(a B<—
(d) 8In2 6
n n
g —<B<—
97. 1t [ fix) dx = k, then [,|f ()] dx is e i i
(a) less than k
fc) —<B<=—
(b) greater than k
{c) less than or equal to k "
(d —<b<—
(d) greater than or equal to k 3
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101. 3 ¥ggH () E 3 F ¥ fou fi=fofa 104. @ 8E A, B 3R C 9 & v B s 2y

=i W $if . TH B @AT €9 A T FA WAt
1. P(EnF2PE)+PF-1 HA: %,gﬁﬂp%iwﬁmgamzﬁ’r
2. P(EUR) = P(E)+ P(F)+ PE NF) mﬁw@%,a}pwmw%?
3. P(EUR < PE)+ P %
I e §  P-E/AE-a b/ (a) %
(@) Fad 1
(b) Fad 3 (b) %
() Faa 133
[ 1,233 () %
102. a2 P(A|B) < P(4) %, @ Frafafgs § @ 1
-7 T 27 @ 2

(@) P(B|A) < P(B)

(b) P(B|A) > P(B) 105. % frde &9 ¥, & "9 6% T Qe 6
60 &1 § 8 AR TE (S:) HRAT ¥ W I I
(c) P(B|A)= P(B) 1 Wi & 76 3a% g Qeft 78 et e i

98 9@ (8:) T W7
(d) P(B|A)> P(A)

2
(a) 5
103. v =17 waft 1 79 H1ew F w9 § 390 2, -
@ frfafas & 4 #¥9-d ofaffa € @@ 1
sy fageea o gend a9 27 AT
(@) W& () :
(b) WA faged @ 15
fc) wHE fagem
@ =2
(d) g4+ fereem 15
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101. Consider the following relations for two 104. A problem is given to three students A, B

events E and F : and C, whose probabilities of solving the
: 3
1. PENF2PE)+PF-1 problem independently are 22 and p
2. PEUF) =PE)+PF+PENF respectively. If the probability that the
.29 e
3. P(EUF) < P(E)+ P(F) problem can be solved is 32’ then what
Which of the above relations is/are is ‘the value of p?
correct? 2
(@) -
fa) 1 only
(b) 3 onl 2
o m 2
{c) 1 and 3 only
(d 1,2 and 3 o 3
3
102. If P(A|B) < P(4), then which one of the
following is correct? 1
i @ 5

(a) P(B|A)< P(B)

(b) P(B|A)> P(B)

105. In a cricket match, a batsman hits a six

(c) P(B|A)= P(B) 8 times out of 60 balls he plays. What
is the probability that on a ball played
(d) P(B|A)> P(A) he does not hit a six?
2
(a) 3

103. When the measure of central tendency is
available in the form of mean, which one
of the following is the most reliable and (b) —

accurate measure of variability? 15
(a) Range 9
0 e=
(b) Mean deviation 15
{c) Standard deviation
@ =2
(d) Quartile deviation 15
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w : o R 91 3 (02) e & fo frafofas w dw : o o 9@ 2 02) v ¥ fow Frafafaa w

foram Sifeng) formm i)
A wEw (fwm) Yand 3x-4y+8=0 3K Tt ffera fowm % 60 ol 7@ 75 # | yw fre
4x-3y-1=0F T4 & 7§ | 3% A2 feg o -
106. Frffrm s frew BRI - 3n s S Y
. 15-20 4
L. xmyiﬁWMi@yzz.’c+2tl 20-25 S
25-30 11
2. y'-‘llxiﬁmmi'@x=4§y+zlﬁl 30-35 6
35-40 5
40-45 8
I FE § A FH-A1/FE-8 T R/E? A5-50 9
50-55 6
(a) %a4 1 55-60 4
60-65 2
(b) *aA 2
(c) 1 ¥ 23w 108, iR (dhfdw) 7 §7
(d FM13dad2 (@ 35
(b) 38
107. Fr=fafas st w fEm fifsw .
c) 39
1. miaiugwiasr,gm
(d) 40

2, xR y % e w3 34 §)

T W Ny vl Y 109. FgeH (W) 71 &7
() %o 1 (@) 2727
(b) ¥ 2 (b) 2773
(c) 1322 (c) 2793
(d @ 1dMad2 (d) 28-27
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Direction : Consider the following for the next Direction : Consider the following for the next

two (02) items that follow. two (02) items that follow.
The marks obtained by 60 students in a certain
Two regression lines are given as 3x-4y+8=0 subject out of 75 are given below :
and 4x-3y-1=0.
Marks Number of students
106. Consider the followi tat: ts
nsider the following statements 15-20 4
i Thesrcgressian line of y on x is 20-25 5
y=—x+2.
4 25-30 11
2. The regression line of x on y is 30-35 6
3 1
e 35-40 5
Which of the above statements is/are 40-45 8
correct? 45-50 9
. 50-55 6
(@) 1 only
55-60 4
1 geoy 60-65 2
{c) Both 1 and 2
(d) Neither 1 nor 2 108. What is the median?
(@) 35
107. Consider the following statements :
3 (b) 38
1. The coefficient of correlations r is —.
4 (c) 39
2. The means of x and y are 3 and 4
respectively. (d) 40
Which of the above statements is/are
correct? 109. What is the mode?
{a) 1 only (@) 2727
(b) 2 only (b) 27-73
() Both 1 and 2 {c) 2793
(d) Neither 1 nor 2 (d) 2827
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110. 3 [15, 64) § afde yaquiet =1 mex w0 112, 10 & F M 5-5 ¥ AR yd+ Jgw ) 4

?7 B 7on = fen W afR 44§ @ g2 R Wi,
@ = e 9 B

(b) 383 )34
c) 34

(¢) 395 i

(d) 40-3

113. 32 2, 4, 8, 16, 32, 64, 128, 256, 512,
1024 &1 TPIR 917 g &, @ F=fofas 3 &

FH-1 TR _7
111. gE&Fst PP
X 0 x+2 x+3 x+10
W&l x ™ wEElE R}, ¥ wgem % fag (b) 16 < g< 32
Frferfiaa # & F9-w1/F9-2 9@ 2/87
1. W] > ¥gcis () 32<g<64
2. WifeEs > 71y
([d) g>64
i fw g g2 #1 wEm = o I gh
(@) ¥=1 114. IR 60 3R x F HF WA 48 ¥, A x H
uH T4 87
(b) a2 (@ 32
(b) 36
(c) 1 3 23
(c) 40
.{d) M1 ARAE 2 (d) 44
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110. What is the mean of natural numbers 112. The mean of 10 observations is 5:5.
contained in the interval [15, 64]? If each observation is multiplied by 4
and subtracted from 44, then what is

the new mean?

(a) 368

(@) 20
(b) 383 b
(c) 395 © 34
(d 40-3 (d) 44

113. If g is the geometric mean of 2, 4, 8, 16,
111. For the set of numbers 32, 64, 128, 256, 512, 1024, then which
one of the following is correct?

x xx+2 x+3 x+10
(ag 8<g<16

where x is a natural number, which of

32
the following is/are correct? (b) 16<g<

1. Mean > Mode fc) 32<g<64

2. Median > Mean

(d) g>64
Select the correct answer using the code
given below.
114. If the harmonic mean of 60 and x is 48,

then what is the value of x?
{a) 1 only

(a) 32
(b) 2 only

(b) 36
(¢) Both 1 and 2 (c) 40
(d) Neither 1 nor 2 d 44
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115. W9H 10 §9 wAqUilt 1 A e o 37 118. W @@ H w1 Wiwa 2 B whwm
x? +x+n=0% 9 awafa® &, 7&l ne N

LS M n<4 7
(b) 55 (@ 0
(d) 105 1
(c) 3
116, afe (d) %

f;xl.ﬂm 3 §xl?=1540
i=1 i=1 119. 73R A 3R B W A sggm (3) & &

?, O v =y 27 P(Aﬂ'a"f)=116, P(B?Eﬁ]=—l% 3R
(@) 22 P(A|B]=%%,?hp(3|A)ﬁma:w%?
(b) 33 11
(a) —1;
(c) 44 5
(d) 55 () 14
©
117. 3® 1, 3, 7 F WA =W (I N FREH .
e fom) 3-sifla deard & 9 ¥ (d) 5

e w1 AgeE ¥ ¥ 99 fem s 2w
am ) #1 wikwa ® fF 9 @en 3 A v ,
7 120. 9@ ¥H8 e AR f Feh W o o §
g% &9 ¥ @l I &1 3@ aw@ A
(a) O wifreran & fo6 2 reft 1€ afiee 78 wh smd?
@ -
15
5
15.

11
15
13
15

(b)

W=

(b)
(c)

P

(c)

(d) (d)
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115. What is the mean deviation of first 118. What is the probability that the roots

10 even natural numbers? of the equation x2 +x+n=0 are real,
where ne N and n <4?
(@ S
(@) O
(b) 55 1
)
fcg 10 3
(@ 105 @ 3
1
e =
(d) 2
116. If

10 10 119. If A and B are two events such that
Y x; =110 and Y, x? =1540
i=1

; 7 3
i=1 PotA)=—, PmotB)=—  and
(not A) 10 (not B) 10
then what is the variance? P(A|B) = 1%, then what is P(B|A)
@ 22 equal to?
11
(b) 33 @ 2
c) 44 9
) 14
(d) 55 1
(c) 7
117. 3-digit numbers are formed using the (d) 1
digits 1, 3, 7 without repetition of digits. 2

A number is randomly selected. What
is the probability that the number is 120. Seven white balls and three black balls
divisible by 3? are randomly placed in a row. What is
the probability that no two black balls
are placed adjacently?
T
ad —
(a) 15
8
15
11
15
13
15

(@ O

(b)

(b)
(c)

)=

(c)

(d) (d)

00| =
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